(BUHE 1)

SHAFEFRTERAEHANERE—E

HIRMEX4 . BEAFEIRE
& Ei BITELZ » 91T F &
( & & )
BB 2 HREENRAEH
(F LW EEE)
= B 38 TerT K E RS
(FZEEE)
Tt = 46 B ESFEER
(ML ERAG 43 EF) (tt&R hREDOHE H#HRAOEREBAOET)
t £ 46 B St wEER
(RSB 9 45 5F) (HEF DREOREE BAOHL L HROBX)
7 & 2 HIREEGRAESH
(A BRHY 55 5F) FLnitE AR)
H 46 Mt EER
(R AR HX)
# ¥ 2 WIREERNASH
BT LV 8)
B 2 61 MRS 13 B HH AR A AR AR
(CRIFE~NOANBY A = R)
= 25 27 AT =
(—#%) (P2 D)
= 2K 27 RS EE E 54
(FRFER) (A D EREK)
ES i 116 B AL HE MBS
(=)
REEF 224 RS EHFT A 5
(FEREETE)
B - KEE 2 RREEKR S
(Bt oo 87) T LB« RE B4 8)
T - FEE 2 HREERASHE
(FRESEF) GETLWET - RE  FREDE)
e G 38 KR HEL RS
(Here We Go! ENGLISH COURSE)
] & 2 RIREEHEASHT
a7 #H LV VER)




